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And rain fell at night; it is the workers’ loss

Overview'

X217 ruled that if he hired workers to irrigate his field and it rained, he need not pay
the workers. Some texts add that it rained the night (before). mo01n discusses the
ramifications of this X07%.

- 259989 N2 5991041 99 T X999 YD) 099DY
According to the texts that read, ‘and it rained at night’, it will be necessary to

say that we are discussing a case where he surveyed the land with the workers the

previous evening -
- 295g59 XY NIY TINTY DIINT NTIDO M1 NY 990 X927

For if he did not survey the land previously, the workers will not lose their pay
as 821 ruled in the previous case.

mMdoIN responds to an anticipated question:*
- SRYINY 199901 23 Yy SQN‘T N3N YYAT NTID9 NN SNNIT JIMNWYNRD XONT TN TPIVEN)

And it was necessary to mention this case here (regarding irrigation) to let us
know (the X5°0) that if the river overflowed, it is the owner’s loss, even if he
showed them the land previously (it is only by rain where it is 223157 X7°09 [if X¥yIX? X717°0]).

mpon clarifies:’
= N9 NN 19MNYNRD 7Y NI XPOrIT NONNA DIyorY

For previously, by the case of plowing it is not possible to teach us the ruling of

' See ‘Overview’ to previous W7 7"7 0.
2 However, if we are not 7293 ,07%, meaning that it rained during the workday then even if 7°¥IX? X770 XY, it would
still be 27197 X705, [If it rained at night it is 2"7v27 X700 for he should have informed them that they should not
come to work (if it rains); however if it rained during the day after they came to work it is not the owner’s fault.]
? %21 ruled (on [the bottom of] 2,1) that if one hired workers to plow and it rained (at night) so it is impossible to
work in the field; it depends, if he showed the workers the field the previous evening, then it is the workers’ loss (for
since they saw the field they should have realized that once it rained at night they will not be able to plow the field) ;
however, if he did not show it to them, it is the owner’s loss (for the workers thought that it is a field that can be
plowed even after a rain [for the water drains easily]). The same applies in our case.
* The ruling here (regarding irrigation) seems to be the same as the previous ruling (regarding plowing). See
‘Thinking it over’.
3 The n"a;7 M7 amends this to read AX1 (instead of AX7).
® The workers do not know that the river overflows; however the 2"7v2 knows and should have informed them.
7 Seemingly %21 could have taught us this difference between rain and an overflowing river in the previous case of
plowing, why did he teach us another case of irrigating to inform us of this difference.
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an overflowing river that it is 2"7y27 X709 -
- 575 H5aa XPOIY NMIND RNN KIY XN RYIN Y9007 973 91193 515 5y MY PR

For it is unusual that on account of a rising river, that the land should be so
inundated with water that it is not fit for plowing because of the overflowing.

mooIn responds to an additional anticipated difficulty:
= 9D NI XD 192 D91 7111 1929 NINT NINTT NINHN)

And from the case of irrigation here, even if %27 would have explicitly
differentiated whether it was 870 (where it is 29197 X7°09) or whether it was

N0 R (where it is 2"7¥27 X7°09), nevertheless
- 9Ni7b"1‘1 NN NI 1YNY MN KD

We would not have known from the case of X907, this distinction by the case of
plowing -

= DY9NDT NTIDD MM NI NID 179N NP9 22)7T NN MNT
For I would have said that by plowing, even if X970 it would still not be X702

21T -
- %13 21999 1999 XYY K0 15 ¥ 79 93 N S9NNNT ¥1Y ©NY 1N K91

For they could not have known that the rain would cause it to be so flooded

that they should not be able to plow, so it is not their fault; on the other hand -
- DY 1905 7722 15 950 NYY NP9 A¥NN T0NIY I 1350 ND YN

However, the owner knows the nature of his land that rain prevents one from
plowing there, so he should not have led the workers to the field.

Mmoo offers an alternate explanation of our X773:
= DOIDT NTIDD NN NP0 RJ 1PN NINT 22) NINT 9917 ¥ Ny

And alternately one can say; that here by X117 even if X972 XY, it is still X790

2157 (and not like by X971 where we distinguish between 870 and X770 R?) -
— 799825 N0 NDY X920 P2 NA Y9N R 9N

And therefore %27 did not distinguish by X717 between X7 and X972 XY, as he
distinguished by the other case of xpo -

¥ Therefore practically speaking there would be no 2"7ya7 X709 since the workers can still plow. However regarding
irrigation it is understood that if the river overflows, the field has no need for additional irrigation (even though it
can still be plowed).

? mooIn question is why teach two rulings one by Xpo7 and one by X207, let X270 just teach by X7 (the difference
between X710 and X710 X?) and we would assume the same applies by &po1. [We would also understand on our own
that by Xpo1 there is no need to distinguish between &7’ and X771, since by X771 the workers can still plow.]

' The recurring theme here is that it takes much more water to prevent workers from plowing a field than it takes to
make irrigation superfluous (a lesser amount of water provides sufficient irrigation, but still allows plowing).
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For there by xpo1 if the owner was X798 KY it is not 2°9¥157 X705 -
- IND9Y91 WP ¥3199 TONNY Y1Y BNY PR DIIMONY 29Y

Because the 2°9¥1> are not responsible to know that rain will prevent them

from plowing his land, so therefore if X710 X7 it is 2"77y27 X7°09 -
= 9017 ¥ HY DININY DN MNINNN MTYN 219 XoNTa Yan

However regarding X>117, by a majority of fields their canals are filled with

water through rain; this is common knowledge -
10V 099Y hna yus X9 DY9N I XY 1Y 150 XD

So the 2"7v2 had no need to be concerned more than the workers that it may be
irrigated by the rain, so the 2"7v2 was not negligent, by [not] bringing them

there to survey it, for they know as much as he does that it can be irrigated sufficiently by rain.

Summary
Rain can render irrigation unnecessary more than it can make plowing impossible.

We therefore need both rulings of &27. There are two views whether the X7°09
0°%3197 by X917 is only if X710 or even if X710 K.

Thinking it over
mooIn explains that we really do not need the case of 71 XnXY (by X2117) since we

can derive it from X7v» XNR by &po™; the case of X917 is only necessary for °nX
x771."° However, one can say that we cannot derive X>117 from Xp5* regarding rain,
because by X117 we could have thought that 72y ¥°11 Xnwn and they should get
full wages;'* this cannot apply by Xpo™ since the work was not done (as it was
done by 89117; the field was irrigated by the rain)!"

' See footnote # 3; the 0*7¥10 assume that the field drains easily and can be plowed even after a rain.
12 The n"27 N3 amends this to read 02917 X2w 7n2 (instead of 0w ).
" See footnote # 4.
'* X2 says they don’t get their wages because we only say "9y *»°11 Xwn by an 0K, but not by a 1. See
previous X7 7"7 '01N.
15 See 7"w 0" and TN WIN XX # 69-71.
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